@ x*-x=x(x+2)

@ x(x-2)=0

=x2-4

O (x-2)(x+2)

® (x+y)?

x% + 2xy + y?

® x+y=x-y



® 2+3i

@ -1+2i

@ -3-2i

B 54+ 92

@ 34+ 4i



9



0°]

o124 k2~ 3x— (k1)

4.

ol

olJ
o8

@ 1 3B 2

3 0



5.

o] 2+

Al
ay

e

B
=¥

P-3x+1=09 %



6. (BPt+ax+2)(x®+bx+2)E ANFAS W, 22 F B3 AFE RF0
o] A Sh= 44 a, boll st a+ b 2] F2?

® -2 @ -1 ®1 @ 2 ®

N | Qo



B

) =3x% +ax? + bx + 127} x - 22 Uxo] Holz|al &,
2L Yol BoX s A4 a + b9 32 Aotoi=t

B
=¥



8.

3 4 = (4 x 200 +ax+b) L WL AE ab
Fatetet.

B
ct

9

ar
H

fijo



X2 =2x—y* +2y 5 A2 SHAEY (x+ay)(x—by+c) 7F AL
&, a+b+co ge Fsteiet

e =
c



19993 + 1

10. +1)(a® - =a*+1&0]8st] —————
(a+1)(@* -a+1)=a®+ 183t s 1099 7 1

e

S ER
=

o 3t



11.

22 Vx+1 x+1
= x °f s, mz—\/x_Q ol JHT W, | x+1+ | x-2]

o] kg TSI (2, (x+ 1)(x-2) £0)

@ 2x-1
@ -3

@ -2x+1 ® 3
® x+1



12. A7t el o)A AHA 2 —ax +b =02 2 Fo] 2+ V3 L
o, ab °] G127

@ -3 @ 0 @ 2
@ 4 ® 2+243



13. o= oAt 5 A

D y=x2+x-1
1
©) y:gx2+4

® y:%(x-i-l)2



14. o W70 <x<3 o, oA y = -2 + 20 + 1 9 WS
M, 2|3:gk& m ol=t Rk, o W, M +m €] & Fstoft

e =
-



15.

OgA A =222 -7 -4 E 04 BE Y= o, o] 2x -1,
U 27} —7x -2 o]tk oA B = ax? + bx +c¢ & ™, a® + b + 2
o] 3r2?

@D 3 @ 6 ® 9 @ 14 ® 17



16. e 5429 gol 36, 2ol7t 569 AL WA ] ThtAlo] Boli=?

D 5 ® 6 B 7 @ 8 ®B 9



17.

f(x)E x-2, x-3 22 Yz wfo] Yyz|7} 24z} 3, 702kl
o, f(0)E (x-2)(x-3) 22 Uz oo Y27

@ 3x-4 ® 4x-5

B 6x-17



18. dolo] = thatA] A, Boll tiste] 4«5 A« B=A%2+B>-A-B
g oS F (x+ 1)+ X =2x+1)2S U= o}—E’rome‘?

@ x-1 @ x+2 ® 2(x-2)
@ 2(x+3) ® x+1)(x-2)



19. o|xge] Al47F 5 19 F thgha] o] g7t x - 20]1,
a7 o + 1) (x - 2)(x 3) Q1 7 o4& 5HH?



20.

17

Al
A

(1= +(-3+i)x+2=02 e x=a E

oz
oty ol W, a+ p + ¢ 9] A= FotEt (H, a, p, g

e =
-



® ag+ a1+ as + as + aq + as



f(2x+3)=09 F

@ 2 ® 4

® 0



x2 - bx

ax —c

G

a+b

© ab @ a—>b

T mt1
,a#+b)
a->b
® a+b

@ a+b

-1 )
M= oA o] Aighe 2 B

® a-b

o
—



24. OJATy =242 —8x+3a—-4 9 FEFL sH I3, 11 s}
A (2a, 8a+5)E A W, A= a o] 3F-2?
©-3 @-; O @ 3 ® 6

| w



25. x+y=3, x>0 y>0< o, 2x% +y? O] HHAZYE M, H=HZm
olg} st M —m 9] 34L& ot

B
=¥



